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A XdH
M S HSAUTIA (XH)
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Klefl & 874,211 862,409 11,802
CHAAH2IUX (XHH) 331,200 306,424 24,776
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O dAtEHI=S 54,0002 x45+53] 1,080
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49,5003 122 5%4
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O o4l AlZs 55,0002 123 660
O &= 15,000
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HOIEEH 100,000& « 12& 1,200
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02 A0 35,880 35,880 0
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O JlZs 1,100,000 x1&* 122 13,200
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O olF2I 50,000 *3CH*23] 300
O AAgduegd|] S22l
800,000 * 14! 800
O HoIsXg2 22 FAEs 2Y
80,000& x 1294 & 960
[ Xtk - dEt] 28,000
O g21e (28U, HUISXdl, A2
) 28,000
st=xt 4,000,000 *1CH 4,000
HAXL 20,000,000 *1CH 20,000
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101 2124 d| 35,024 34,172 852
M IIRINZ2Z2XsSEs 35,024 34,172 852
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20,000,000& * 14! 20,000
O 4522 2= s2&HISA
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02 RIS =] 560 560 0
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01 Mg R3] 2,400 2,400
O aed 150,000 « 122 1,800
0 ez 50,0008+ 122 600




